
Maxi Climber Vertical Climber
(100876)



 Washer:(Φ5)  Washer:(Φ10)  Washer:(Φ12)

   Lock Nut:(M12)   Lock Nut:(M10)

4X 4X

3X 3X

 Bolt:(M5*55)

8X

4X

   Hex Bolt:(M12*85)

1X

   Mushroom Head Hex

     Bolt:(M8*45)

1X

   Mushroom Head Hex

     Bolt:(M8*85)

   Mushroom Head Hex

     Bolt:(M10*50)

4X

Bolt:(M12*245)

1X

 Washer:(Φ8)

28X

   Lock Nut:(M8)

13X

   Mushroom Head Hex

     Bolt:(M8*60)

3X

4X



Maximum load 200KG

14
10
mm
-1
90
5m
m

10
30
mm

980mm



1
   Mushroom Head Hex Bolt(M8*45)-2PCS Washer(Φ8)-2PCS

φ8
φ8

M8*45M8*45



2
 Washer(Φ8)-4PCS

   Mushroom Head Hex
   Bolt(M8*45)-2PCS    Lock Nut(M8)-2PCS

Washer(Φ12)-2PCS

   Hex Bolt(M12*85)-1PC   Lock Nut(M12)-1PC

M8
M8
Φ8

Φ8

Φ8
Φ8

M8*45
M8*45

Φ12

Φ12

M12

M12*85



3

   Lock Nut(M12)-1PCWasher(Φ12)-2PCS

 Bolt(M12*245)-1PC

M12

M12

φ12

φ12

M12*245



Washer(Φ8)-2PCS   Lock Nut(M8)-1PC

   Mushroom Head Hex Bolt(M8*60)-1PC   Mushroom Head Hex Bolt(M10*50)-1PC

Washer(Φ10)-2PCSLock Nut(M10)-1PC

4

M10*50

M10
φ10

φ10

M8*60
φ8φ8

M8

M10*50

M10

φ10

φ10

M8*60

φ8 φ8 M8



5

4-M8*85
4-M8

4-φ8
4-φ8

4-M8*85

4-M8*85

4-M8

4-M8

4-φ8

4-φ8
4-φ8

4-φ8

   Mushroom Head Hex Bolt(M8*85)-8PCS

Washer(Φ8)-16PCS   Lock Nut(M8)-8PCS



6

M10

M10

φ10

φ10

M8*60

M8*60
φ8

M8

M8

φ8
φ8

φ8

   Mushroom Head Hex Bolt(M8*60)-2PCS

   Lock Nut(M8)-2PCS

Washer(Φ8)-4PCS

Washer(Φ10)-2PCS   Lock Nut(M10)-2PCS



7
Washer(Φ5)-4PCS    Bolt(M5*55)-4PCS

M5*55

M5*55
M5*55

M5*55

φ5

φ5

φ5

φ5


